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HEk B S 30, 691 34, 050 A 3,359
Tk BV -3 7,823 9,134 A 1,311
JEH BB A 530 4, 583 2,118 2, 465
JRIAS AT S 103 112 A9
R S 6, 822 7,116 A 294
LS S 8,876 9, 542 A 666
ERELE S 590 620 A 30
SRR S 100 300 A 200
B2 ESin 64 310 10 300
PRSPEE S 30 10 20
FHEL 295 315 A 20
JRIE B ST 300 300 0
T RER B i 2 3 600 900 A 300
PRIREL S H 1,062 1,433 A 371
SHERE S 3, 000 3, 000 0
H Y S 2, 569 2,634 A 65
MES 20 20 0
FHFIU 4, 068 4,352 A 284
TR A S 503 539 A 36
Wik Bk 2 S 120 257 A 137
ikt 22wt S 40 40 0
FHERFFCE S 180 410 A 230
FHTHEES S 1,319 1, 200 119
FI R A 5 1 300 300 0
A R S () 1, 390 1, 390 0
WA S 190 190 0
s e 26 26 0
FEIEE SHER(2) 62, 966 66, 424 A 3,458
HERPHELSINIZHB)=(1)-(2) 1,265 4, 457 A 3,192
B ] WA it Bl S (4) 0 0 0
B | O |EER R 400 700 A 300
It 2o B R OV it B 532 200 500 A 300
ff A ESs 1t 200 200 0
> MRl % (5) 400 700 A 300
MR SR IR (6)=(4) - (5) A 400 A 700 300
| BN B pEBUR I 2, 300 1, 200 1,100
ﬂg [ s 5l AT N P BRI 2,300 1,200 1,100
) DA DIEFENAG (7) 2, 300 1,200 1,100
5| S (R e s 1,265 1,480 A 215
e [iEtikie 5 B v i 7 1, 265 1, 180 ~ 215
4 Py AR S 0 2,977 A 2,977
[T oA 0 2,077 A 2,977
Al = NS 1,900 500 1, 400
[ — & AR A L K 1,900 500 1,400
D OIE B S HE (8) 3, 165 4,957 A 1,792
T DMDTEEE LI ZEEE (9)=(1)-(8) A 865 A 3,757 2, 892
A S (10) 0 0 0
LRSI EEAR (11)=(3)+(6) +(9) - (10) 0 0 0
B SHLE S 5% (12) 126, 033 123, 703 2,330
4R NG Ak (11) +(12) 126, 033 123, 703 2,330
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HER S 2ANFE
= [V SEE
P—r

ARGy 2. REREE M EFTE

(Hhr : FM)

AL ® ] n AT B B BT | HLEORIR =3
P [ A [ i A 77 158 A 81
X = OO MR 7 158 281
) Z OMOABIEIA 77 158 A 81
% |2 ofoiisn & 77 158 A 81
@ IR SN 58, 449 52, 640 5, 809
JEES AR RN 58, 399 52, 585 5,814
[ i S B 58, 399 52, 585 5,814
D DOFIEIA 50 55 A5
EEETIEN 50 55 INE
HEIEBIAGE (1) 58, 526 52, 798 5,728
S A 49, 411 43,871 5, 540
HEk B S 33, 266 29, 704 3, 562
Tk BV -3 9,138 8, 204 934
JRIAS AT S 107 107 0
EE R 2 3 6, 900 5, 856 1,044
FEEA S 3,918 4,610 A 692
ERELE S 410 410 0
SRR S 100 300 A 200
B2 ESin 64 210 10 200
PRSPEE S 30 10 20
FHEL 290 310 A 20
T RER B i 2 3 250 450 A 200
PRIREL S H 561 702 A 141
SERL S 740 740 0
H Y S 1,307 1,658 A 351
MES 20 20 0
FHFIU 2, 662 2,934 A 272
TR A S 323 300 23
Wik Bk 2 5 107 182 A 75
ikt 22wt S 40 40 0
BHERFFCE S 210 430 A 220
S THEESL S 1, 200 1, 200 0
FI R A 5 1 300 300 0
A R S () 300 300 0
WO S 180 180 0
EEs edi] 2 2 0
FEIEE SHER(2) 55,991 51,415 4,576
HERPELNIZHB)=(1)-(2) 2,535 1,383 1,152
B ] WA it Bl S (4) 0 0 0
B | O |EER R 400 500 A 100
It 2o B R OV it B 532 200 300 A 100
ff A ESS 1t 200 200 0
> MRl % A (5) 400 500 A 100
MR SR IR (6)=(4) - (5) A 400 A 500 100
| BN [Birig pEmR I 900 500 400
@ [ s e A S PE TR 900 500 400
) DA DIFENAG (7) 900 500 400
5| S (R e s 1,541 1,283 258
e [iEtikie 5 B v i 7 1,541 1, 283 258
4 Py AR S 994 100 894
[T oA 994 100 894
Al NS 500 0 500
[ — & ARy A L K 500 0 500
D OIE B S HE (8) 3,035 1,383 1,652
T DMDTEEE LI ZEE (9)=(1)-(8) A 2,135 A 883 A 1,252
A S (10) 0 0 0
LRSI EEAR (11)=(3)+(6) +(9) - (10) 0 0 0
B SHLE S 5% (12) 170, 179 169, 309 870
R NG Ak (11) +(12) 170, 179 169, 309 870
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R & 2. A%FE
X 4 LB SR
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EAKS 3. EEMEETEXEEE

(Hhr : FM)

AL ® ] n AT B B BT | HLEORIR =3
P [ A [ i A 110 221 A 111
§ D DOHBI AU 110 221 A 111
) Z OMOABIEIA 110 221 A 111
% |2 ofoiisn & 110 221 A 111
@ IR SN 86, 819 78, 006 8,813
JEES AR RN 86, 769 77,953 8,816
[ i S B 86, 769 77,953 8,816
D DOFIEIA 50 53 A3
EEETIEN 50 53 A3
HEIEBIAGE (1) 86, 929 78, 227 8,702
S A 65, 243 58, 804 6, 439
HEk B S 44, 499 40, 264 4, 235
Tk BV -3 11, 707 10, 305 1,402
JRIAS AT S 104 102 2
EE R 2 3 8,933 8,133 800
FEEA S 5,702 5,099 603
ERELE S 530 500 30
SRR S 100 300 A 200
B2 ESin 64 210 10 200
PRSPEE S 30 10 20
FHEL 284 304 A 20
T RER B i 2 3 250 450 A 200
PRIREL S H 868 1,008 A 140
SERL S 1,450 296 1,154
H Y S 1,960 2,201 A 241
MES 20 20 0
FHFIU 3,693 4, 067 A 374
TR A S 416 393 23
Wik Bk 2 5 145 282 A 137
ikt 22wt S 40 40 0
BHERFFCE S 210 470 A 260
S THEESL S 1, 400 1, 400 0
FI R A 5 1 300 300 0
A R S () 1,000 1,000 0
WO S 180 180 0
EEs edi] 2 2 0
FEIEE SHER(2) 74,638 67,970 6, 668
HERPELNIZHB)=(1)-(2) 12, 291 10, 257 2,034
B ] WA it Bl S (4) 0 0 0
B | O |EER R 2, 400 500 1,900
It E A e L I A S 2,000 0 2, 000
% 9 EL K OV b I Y 200 300 A 100
> VT R = 7 B 200 200 0
it 3% B <5 3 HH E (5) 2, 400 500 1,900
MR SR IR (6)=(4) - (5) A 2,400 A 500 A 1,900
T [ A [ — e X KSR A LI 2, 400 500 1, 900
ﬂg [ — & AR RIEA LI 2, 400 500 1,900
) DA DIEFENAG (7) 2, 400 500 1,900
5| S (R e s 2,259 2,057 202
e [Fameie 580 v e 2 2,259 2,057 202
4 Py AR S 10, 032 8, 200 1,832
[T oA 10, 032 8, 200 1,832
D OIE B S HE (8) 12,291 10, 257 2,034
T DMDTEEE LI ZHE (9)=(1)-(8) A 9,891 A 9,757 A 134
A S (10) 0 0 0
LRSI EEAR (11)=(3)+(6) +(9) - (10) 0 0 0
B SN E S 5% (12) 107, 352 101, 468 5, 884
R NG Ak (11) +(12) 107, 352 101, 468 5, 884
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